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TS15/1

* What was the ‘privy purse’ arrangement at the time of
Independence of India

A) A purse given privately by private organizations as a
donation to political parties

B) A purse given by the government of India to dignitaries

for service rendered

C) A grant given by the Government of India to the
erstwhile Princes of India

D) A gift given by erstwhile Princes of India to the
Government in lieu of the protection provided to them by
Government of India




TS15/2

* Which of the following articles of the Constitution of
India have been declared by the Supreme Court as the
‘Inviolable basic structure of the Constitution?

1. Article 32

2. Article 226
3. Article 227
4. Article 245

Select the correct answer using the code given below:

A)1,2and 3
B) 1,3and 4
C)1,2and 4
D) 1,2,3and 4




TS15/3

* Global Centre for Nuclear Energy Partnership (GCNEP) is
located in:

A) Shanghai, China

B) Bahadurgarh, India

C) Norway

D) Denmark




TS15/4

* Horse latitude lie within the atmospheric pressure belts

of:
A) Polar high

B) Equatorial low

C) Sub-tropical high

D) Sub-polar low




TS15/5

* RBI had granted ‘in-principle’ banking licenses to
Infrastructure Development Finance Company (IDFC)
and micro-financer lender Bandhan Financial Services
Ltd. What is ‘in-principle’ banking licenses?

A) It is a kind of licence only provided to Payment Banks

B) It is a bank license meant for only those private bank
whose majority stakeholders are Indian Nationals

C) It is just a pre-licensing window of a limited time to
ascertain the actual potential of the proposed banks

D) None of the above




TS15/6

* Which one of the following Articles of the Indian
Constitution puts absolute limitation on the legislative
power?

A) Article 14

B) Article 15

C) Article 16

D) Article 17




TS15/7

* Which of the following pairs of sets and their important
crops are correctly matched?

1. Kerala ::: Tapioca

2. Maharashtra ::: Cotton

3. West Bengal .2 Jute

4. Gujarat ::: Groundnut

Which of these pairs are correct.

A)1,2and 3
B) 1,2 and 4
C) 1,3and 4
D) 2,3and 4




TS15/8

* The biggest cargo port of South Asia is

A) Colombo
B) Karachi
C) Kolkata

D) Mumbai




TS15/9

* Which one is a modified stem?

A) Carrot

B) Sweet potato

C). Coconut

D) Potato




TS15/10

* Freedom of inter-state trade and commerce is regulated
by the Indian Constitution under Article:

A)19 (1) (g)

B) 301

C) 301to 307

D) All the above




TS15/11

* Besides proteins and carbohydrates, other elements of
nutritional value found in milk includes:

A) Calcium, potassium and iron

B) Calcium and potassium
C) Potassium and iron

D) Calcium and iron




TS15/12

* Consider the following rivers:
1. Kishenganga
2. Ganga
3. Wainganga
4. Penganga

The correct sequence of these rivers when arranged in the

North-South direction is

A) 1-2-3-4
B) 2-1-3-4
C) 2-1-4-3
D) 1-2-4-3




TS15/13

* Which one among the following is not guaranteed by the
Constitution of India?

A) Freedom to move freely throughout the country

B) Freedom to assemble peacefully without arms

C) Freedom to own, acquire and dispose off property any
where in the country

D) Freedom to practice any trade or profession




TS15/14

* The Constitution of India divided the states in categories
A B C. D intheyeari9s0, in this context which of the
following statement is correct?

A). The Chief Commissioner was the executive head of
category A States. The Rajpramukh was the executive
head of category B States. The Governor was the executive
head of categories C and D States

B). The Rajpramukh was the executive head of category A
States. The Chief Commissioner was the executive head of
categories B and C States. The Governor was the executive
head of the category D States

e Contd.




TS15/14 Contd.

C) The Governor was the executive head of category A
States. The Rajpramukh was the executive head of category
B States. The Chief Commissioner was the executive head
of categories C and D States.

D) The Governor was the executive head of category A

States. The Chief Commissioner was the executive head of
category B States. The Rajpramukh was the executive head
of categories C and D States




TS15/15

* The price at which the government purchases food grains
for maintaining the public distribution system and for
building up buffer stocks is known as:

A) minimum support price

B) Procurement Price
C) Buffer support price

D) Food Security Price




TS15/16

* Which of the following is not the disease involving Red
Blood Cells?

A) Vericose

B) Sickle cell disease

C) Hemolysis

D) Pernicious anemia




TS15/17

» Match List [ with List Il and select the correct answer using the
codes given below:

List I (Books) List II (Author)
a) Madras- A 400 year Record 1. S Muthiah
of the first city of modern India

b) I shall never ask for Pardon 2. Savitri Sawhney
- A Memoir of Padurang Khankhojw

c¢) India in the World of physics 3. Asoke N Mitra
- Then and Now

d) Ladies and Gentlemen 4. Narayana kurup

Code a b : a
A) 1 2 . B) 2.
C) 3 4 : D) 4.

b C d
3. 4. 1
1. 2 3

20/06/2021




TS15/18

* Consider the following sports
1.Cricket
2. Tennis
3. Football

The newly introduced Hawk Eye system is used in
modern sports events in case of which sport among the

above

A) 1and 3 only
B) 1and 2 only
C) 2 and 3 only
D) All of the above




TS15/19

* A hydrogen inflated polythene balloon is released from
the surface of the earth. As the balloon rises to an altitude
up in the atmosphere, it will :

A) decrease in size

B) flatten into a disc like shape

C) increase in size

D) maintain the same size and shape




TS15/20

* Which one among the following pairs is correctly
matched?

A) The Second Battle : Defeat of Jaichand of
Tarain kanauj by Mohammad of
Ghori

B) The First Battle of :: Defeat of Sikander Lodi by Babar
Panipat

C) The Battle of Chausa :: Defeat of Humayun by
SherShah

D) The Battle of Khanwa :: Dfeat of Rana Pratap by Akbar




TS15/21

* Consider the following statements about Mission
Indradhanush scheme:
1. The campaign is part of the Universal Immunization
Programme by 2020
2. The Ministry will be technically supported by WHO
UNICEF Rotary International and other donor partners

Select the correct statements.

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS15/22

* Which of the following is/are among the functions of the
Election Commission of India?
1. Conduct of election for the posts of the Speaker and
Deputy Speaker of the Lok Sabha and the Deputy
Chairman of the Rajya Sabha
2. Conduct of election to the Corporations and
Municipalities

3. Deciding on all doubts and disputes arising out of
elections

Select the correct answer from the codes given below:
A)1and 2

B) 1and 3

C)2and3

D) None of these




TS15/23

 Match List I with List II and select the correct answer
using the codes given below:

List I List II
(Region) (Type of Climate)
a) California 1. Mediterranean
b) West Australia 2. West Australia

c) Bangladesh 3. Cold Temperate
d) Siberia 4. Hot Desert

Code: a
A) 1
B) 1
C) 2
D) 2




TS15/24

* Who among the following ladies write wrote a historical
account during the Mughal period?

A) Gulbadan Begum

B) Nurjahan Begum

C) Jahanara Begum

D) Zebun Nisaa Begum




TS15/25

* The term Sangara and Colandia of periplus meant

A) Types of textiles manufactured in Chola country

B) Types of ships used on the east coast of India
C) Kind of spices available on the west coast of India

D) Kinds of gold coins imported into Sangam Kingdom




TS15/26

* Convertibility of the rupee implies:
A) being able to convert rupee notes into gold

B) allowing the value of the rupee to fixed by market
forces

C) freely permitting the conversion of rupee to other
major currencies and vice versa

D) developing an international market for currencies like
stock exchange




TS15/27

* Consider the following statements about Jawaharlal
Nehru

1. He was the President of the Congress Party in 1947
2. He presided over the Constituent Assembly

3. He formed the first Congress ministry in United
Province before India’s independence

Which of these statements are correct?

A)1,2and 3

B) 1and 3
C)1and 2

D) none of them




TS15/28

* Which of the following places is considered a Jain
Siddhakashetra on account of its Association with
Parsvanatha?

A) Champa

B) Pava
C) Sammed Sikhara

D) Urjayanta




TS15/29

* The oldest monarchy in the world is that of:

A) UK
B) Nepal
C) Saudi Arabia

D) Japan




TS15/30

* Biologists have so far known found and identified a large
number of species in the plant and animal kingdom. In
terms of numbers, the largest found and identified so far
is from among the:

A) Fungi

B) Plants
C) Insects

D) Bacteria




TS15/31

* Which of the following vitamins is considered to be a
hormone?

A) A

B) B

C)C

D)D




TS15/32

* Which one of the following provisions was NOT made in
the Charter Act of 18337

A) The trading activities of the East India Company were
to be abolished

B) The designation of the supreme authority was to be

changed as the Governor-General of India in Council

C) All law-making power to be conferred on Governor-
General in Council

D) An Indian was to be appointed as a Law Member in the
Governor General’s Council




TS15/33

* The technique used to transmit audio signals in television
broadcasts is

A) Amplitude Modulation
B) Frequency Modulation

C) Pulse Code Modulation

D) Time Division Multiplexing




T515/34

* During the Vijaynagara Empire regular and periodic fairs
took place along the main roads leading to big temples
during festival times. The reason behind such an
arrangement was
1. Cultural recreation
2. Realization of importance of trade
3. Showcase the diversity in the empire to foreigners

Code:

A) 10nly

B) 2 only

C) 1and 2 only
D) 2 and 3 only




TS15/35

* Which of the following are associated with diabetes
melitus, a common disease in adults?

1. Higher sugar level in blood
2. Lower sugar level in blood

3. Lower insulin level in blood
4. Higher insulin level in blood

Select the correct answer by using the codes given below

A) 2and 4
B) 1and 2
C)2and3
D)1and 3




TS15/36

* Which one of the following sets is correctly matched?

A) Diptheria, Pneunonia, Leprosy :: Hereditary

B) AIDS, Syphilis and Gonorrhoea :: Bacterial

C) Colour Blindness, Hemophilia. :: Sex linked
Sickle cell anaemia

D) Polio Japanese B encephalitis. :: Viral
and Plague




TS15/37

 Match List I with List II and select the correct answer
using codes given below the Lists:

List I List II
(Physiological Processes) ( Cell Organelles)
a) Photosynthesis 1. Plasma membrane
b) Mineral uptake 2. Chloroplast

c) Respiration 3. Mitochondria
d) Protein synthesis 4. Ribosomes

Code: a
A) 1
B) 1
C) 2
D) 2




TS15/38

* Consider the following statements- AIDS is transmitted
1. by sexual intercourse
2. by blood transfusion
3. by mosquitoes and other vectors
4. across the placenta

Which of these statements are correct?

A)1,2and 3
B) 1,2 and 4
C) 1,3and 4
D)1and 3




TS15/39

» Water is a good solvent of ionic salts because

A) It has a high boiling point

B) It has a high dipole moment
C) It has a high specific heat

D) It has no colour




TS15/40

 Match List I with List II and select the correct answer
using codes given below:

List I
(Reports)
a) Butler Committee
b) Hurtog Committee

c) Hunter Inquiry
d) Muddiman Committee

List I1

(Subject)

1. ]alfianwala Bagh massacre

2. Relationship between the
Indian States and paramount
power

3. Working of Dyarchy

4. The growth of education




TS15/41

* The first Indian ruler to organise Haj pilgrimage at the
expense of the state was:

A) Alauddin Khilji

B) Feroz Tughlaq

C) Akbar

D) Auranzeb




TS15/42

* Which one of the following countries has the largest
known reserves of 0il?

A) Kuwait

B) Iran

C) Iraq

D) Nigeria




TS15/43

* Which one of the following is not an explosive?

A) Trinitrotoluene
B) Trinitroglycerine
C) Cyclotrmethylene Trinitramine

D) Nitrochliochloroform




TS15/44

* Which of the following electoral systems have been
adopted for various elections in India?
1. System of direct election on the basis of adult suffrage
2. System of proportional representation by means of the
single transferable vote
3. List system of proportional representation
4. Cumulative system of indirect elections

Select the correct answer from the codes given below:

A)1and 2
B) 1and 3
C)1,2and 3
D) 2,3and 4




T515/45

* Alexanders’ success in India was due to:

1. There was no central power in India

2. He had a Superior army

3. He received help from traitorous Indian rulers
4. He was a good administrator

Select your answer from the following codes:

A)1and 2

B) 1,2 and 3
C) 2,3and 4
D) 1,2,3and 4




TS15/46

* Who among the following is said to have witnessed the
reign of eight Delhi Sultan?

A) Ziauddin Barani

B) Shams-i-Siraj Afif

C) Minhaj-us-Siraj

D) Amir Khusrau




T515/47

* Which one of the following is not an essential
micronutrient for plants?

A) Boron
B) Zinc

C) Sodium

D) Copper




TS15/48

* The most decisive battle that led to the establishment of
supremacy of the British in India was:

A) The Battle of Plassey
B) The Battle of Buxar

C) The Battle of Wandiwash

D) The Third Battle of Panipat




T515/49

* The only anthropoid ape to be found in India is the:

A) Hanuman Monkey

B) Lion tailed macaque of Western Ghats

C) Slow loris of Assam

D) White brown gibbon of Assam




TS15/50

* The INA was a brainchild of
1. Giani Pritam Singh
2. Mohan Singh
3. Subhash Chandra Bose
4. Major Iwaichi Fujiwara

Select the correct answer from the code given below

A)1and 2
B) 2and 3
C)iand 3

D)1and 4




TS15/51

* The first Indian ruler who joined the Subsidiary Alliance
was:

A) the Nawab of Awadh

B) the Nizam of Hyderabad

C) Peshwa Baji Rao II

D) the King of Travancore




TS15/52

* The gas used in discharge tubes for optical decoration and
advertising is

A). solid, liquid and gaseous states
B)Liquid state only

C) gaseous state only

D) both gaseous and liquid state




TS15/53

* The Himalayas are formed of parallel fold ranges ; of
which the oldest range being

A) The Shiwalic Range

B) The lesser Himalayas

C) The Great Himalayan Range

D) The Dhaula Dhar Range




T515/54

* Which one of the following east flowing rivers of India
has rift valley due to down warping?

A) Damodar
B) Mahanadi
C) Son

D) Yamuna




TS15/55

* The Constituent Assembly of India was chosen on the
basis of the provincial elections of 1946. With the
withdrawal of the Muslim League from the Constituent
Assembly it turned out that majority of the Assembly
members were also members of the Congress. Under the
circumstances, how was the Constituent Assembly given a
broader social basis?

A) By nominating independent members from various
minority groups

B) By nominating independent members from various
caste and religious groups




TS15/55 Contd....

C) By nominating independent members of different castes
religious groups and women and also by taking in
representatives of the princely states and asking for written
submission from the public at large

D) By taking in represtatives of the princely states and

asking for written submission from the public at large




TS15/56

* Which one among the following statements about
Ashokan Edicts is correct?

A) The Pillar Edicts were located in all parts of the empire

B) The Edicts give details of his personal concerns but are
silent on events of the empire

C) The subject of inscribed matter on Rock Edicts differs
completely with that of the Pillar Edicts

D) The Greek or Aramaic Edicts are versions or
translations of the texts used in other Edicts




TS15/57

* Which one of the following sets of commodities are

exported to India by arid and semi-arid countries in the
Middle East?

A) Raw wool and carpets

B) Fruits and palm oil

C) Precious stones and pearls

D) Perfumes and coffee




TS15/58

* Consider the following statements regardingthe High
Courts of India:
1. There are 18 High Courts in India
2. Three of them have jurisdiction over more than one
State
3. No Union Territory has High Courts of its own
4. Judges of the High Courts hold office till the age of 62

Which of these statements are true/correct

A)1,2and 4
B) 2 and 4
C)1and 4
D) 4 only




TS15/59

* Fat present below the skin surface in our body, acts as
barrier against:

A) Loss of heat from the body

B) Loss of essential body fluids

C) Loss of salts from the body

D) entry of harmful micro organisms from the
environment




TS15/60

* Which one of the following types of erosion is responsible
for the formation of Chambal Ravines?

A) Splash
B) Sheet

C) Rill

D) Gully




TS15/61

* Which hormone is known as ‘fight or flight' hormone?

A) Insulin
B) Adrenaline
C) Estrogen

D) Oxytocin




TS15/62

* Which of the following international events influenced
the course of the national movement in India before the
advent of Mahatma Gandhi?

1.) Italian —~Abyssinian War, 1898

2.) Boxer Movement in China

3.) Revolutionary Movement in Ireland

4.) Victory of Japan in the Russia-Japanese war

Choose the correct answer from the codes given below

A)1,2and 3
B) 1,2 and 4
C) 3and 4

D) 1,2,3and 4




TS15/63

 Match the List I with List II and choose the correct answer
using the given codes below:

List I List II

(Climatic Conditions) (Reasons)

a) Madras is warmer than 1. North-East Monsoon
Kolkata

b) Snowfall in Himalayas 2. Altitude

c) Rainfall decreases from 3. Distance from Sea
West Bengal to Punjab

d) Sutlej-Ganga Plains 4. Latitude
gets some rain in winter

Code: a
A) 1 C)
B) 4 D)




TS15/64

* Toramana belonged to the ethnic horde of the:

A) Scythians

B) Hunas
C) Yue-chis

D) Sakas




TS15/65

* Which one of the following pairs is not correctly matched:
A) Fullerences ::: Organic compound containing fluorine

B) Dry Ice ::: solid carbon dioxide

C) Keratin ::: protein found in the outer layer of

human skin

D) Mustard gas  ::: Poisonous liquid used in chemical
warfare




TS15/66

* The highest milk producing breed of goat in India is:

A) Barbari
B) Jamnapari
C) Black Bengal

D) Beetal




TS15/67

* Consider the following high yielding varities of crops in
India:
1. Arjun
2. Jaya
3. Padma
4. Sonalika

Which of them are wheat?

A)1and 2
B) 2and 3
C)1and 4
D) 3and 4




TS15/68

* Monazite is the ore of:
A) Zirconium
B) Thorium

C) Titanium

D) Iron




TS15/69

* Which of the following planet takes the least time to orbit
the Sun

A) Pluto

B) Mercury

C) Earth

D) Saturn




TS15/70

* [f safe storage is to be ensured the moisture content of
food at the time of harvesting should not be higher than

A) 14 %
B) 16%
C) 18%

D) 20%




TS15/71

* Consider the following statements with reference to the
rift valley of Africa:

1. The great rift valley of east Africa has its roots in
convergence of African plate and Arabian plate

2. Most of Africa’s lakes are located in the great rift of
Africa

The correct statement is/are

A) 10nly

B) 2 only

C)1and 2

D) None of the above




TS15/72

* Which of the following statements are true for
bionomics?
1. It literally means ‘management of life’
2. It is a synonym for ecology
3. It stresses on the value of natural system which
influence human systems

Which of these statements are correct?

A) 10nly

B) 1and 2
C)2and3
D) 1,2 and 3




TS15/73

* Who among the following are appointed by the President
of India?

1. The Chairman of Finance Commission
2. The Deputy Chairman of Planning Commission

3. The Chief Minister of a Union Territory

Choose the correct answer fro the codes given below:

A) 10nly

B) 1and 2
C)iand 3
D)1and 3




TS15/74

* A large crowd gathered in the Jallianwalla Bagh at
Amritsar on April 13, 1919 to protest against the arrest of:

A) Swami Shradhanand and Mazharul

B) Madan Mohan Malyia and Mohamad Ali Jinnah

C) Mahatma Gandhi and Abdul Kalam Azad

D) Dr. Saifuddin Kitchlu and Dr. Satyapal




TS15/75

* Who among the following became the Prime Minister
India without being earlier the Chief Minister of a State?

1. Morarji Desai

2. Charan Singh

3. V P Singh

4. P V Narasmha Rao

Select the correct answer from the code given below:

A)1,2and 4
B) 2,3and 5
C) 2 only
D) 4 only




TS15/76

* The thermal equator found-

A) at the equator

B) South of the geographical equator

C) North of the geographical equator

D) at the tropic of cancer




TS15/77

* The speed of light will be minimum while passing
through:

A) Glass
B) Vacuum
C) Water

D) Air




TS15/78

* In which of the following movements Bande Matram was
adopted slogan for agitation?

A) Revolt of 1857

B) Partition of Bengal in 1905

C) Non-Cooperation Movement in 1922

D) Quit India Movement in 1942




TS15/79

* Which one of the following is a membrane that protects
the developing embryo from desiccation?

A) Amnion
B) Allantois
C) Chorion

D) Yolk sac




TS15/80

* ETA is terrorist organization in

A) Cyprus

B) Sri Lanka
C) Spain

D) South Africa




TS15/81

* Which of the following enabled the Supreme Court of
India to deduce a fundamental right to equal pay for equal
work?

A) the word ‘Socialist’ used in the preamble of the
Constitution

B) A above read with article 14 of the Constitution

C) A above read with article 16 of the Constitution

D) A,B, C all read together




TS15/82

* Phenylketonuria is an example of an inborn deficiency of
metabolism. This deficiency is refers to:

A) hormonal overproduction

B) atrophy of endocrine glands

C) inherited lack of an enzyme

D) nondisjunction




TS15/83

* Who warned Gandhiji not to encourage fanaticism of
Muslims religious leaders and their followers?

A) Aga Khan

B) Ajmal Khan
C) Hassan Imam

D) Mohammad Ali Jinnah




TS15/84

 Match List I with List II and select the correct answer
using the codes given below:

List I List II
(Nuclear Power House)  (State)
a) Kota 1. UP
b) Tarapur 2. Gujarat

c) Kakrapara 3. Maharashtra
d) Narora 4. Rajasthan

Code:
A)
B)
C)
D)




TS15/85

* Consider the statements regarding finance commission

1. Constitution of India provides for a Finance
Commission as a quasi judicial body

2. The Finance Commission consists of a chairman and
four other members to be appointed by the President
3. The recommendations made by the Finance
Commission are only of advisory nature

Choose the correct statements

A) 10nly

B) 2 and 3 only

C) 1and 2 only

D) All of the above




TS15/86

» Kanha National Park belongs to which one among the
following biogeographical areas in the world?

A) Tropical sub-humid Forests

B) Tropical Humid Forests

C) Tropical Dry Forests

D) Tropical Moist Forests




TS15/87

* Which of the following places are known for
manufacturing of paper in India?

1. Yamunanagar
2. Guwahati

3. Shahabad
4. Ballarpur

Chose the correct answer using the codes given below

A)1,2and 3
B) 1,2 and 4
C) 1,3,and 4
D) 2,3and 4




TS15/88

* Who among the following leaders proposed to adopt
Complete Independence as the goal of the Congress in the
Ahmedabad Session of 19217

A) Abdul Kalam Azad

B) Hasrat Mohani

C) Jawaharlal Nehru

D) M K Gandhi




TS15/89

* Which of the following pairs is correctly matched?
A) Dewan-i-Bandagani ::: Tughlaq
B) Dewan-i-Mustakhraj. ::: Balban

C) Dewan-i-Kohi. ::: Alauddin Khilji

D). Dewan-i-Arz. ::: Muhammad Tughlag




TS15/90

* Consider the following statements:
1. India ranks first in the world in fruit production
2. India ranks second in the world in the export of tobacco

Which of the these statements is/are correct?

A) 10only

B) 2 only
C) Both1and 2

D) Neither 1 nor 2




TS15/01

* The colour of an opaque object is due to the colour it

A) Absorbs
B) Refracts
C) Reflects

D) Scatters




TS15/92

* The greatest diversity of animal and plant species occurs
in:

A) temperate deciduous forests

B) Tropical moist forests

C) Heavily polluted rivers

D) Deserts and savannas




TS15/93

* Which one of the following is an important historical
novel written during the later half of the nineteenth
century?

A) Rast Goftar

B) Durgesh Nandini

C) Maharatha

D) Nibandhamala




T515/94

* In which State of India, the sex ratio is more than 1000.

A) Andhra Pradesh
B) Karnataka
C) Kerala

D) Tamil Nadu




TS15/95

* Haemoglobin is dissolved in the plasma of

A) Frog
B) Fish
C) Man

D) Earthworm




TS15/96

* Who among the following suggested the winding up of
the Indian National Congress after attained
independence?

A) C Rajagopalachari

B) Acharya Kripalani

C) Mahatma Gandhi

D) Jayaprakash Narain




TS15/97

e Shishu, Kishore and Tarun are associated with which of
the following scheme?

A) Pradhan Mantri Jeevan Jyoti Bima Yojana

B) Pradhan Mantri Suraksha Bima Yojana
C) Pradhan Mantri Mudra Yojana

D) Pradhan Mantri Fasal Bima Yojana




TS15/98

* Renin and lactase, the enzymes re%uired to di%est milk,
stop getting made in human body by the age of:

A) two
B) Three
C) Five

D) Eight




TS15/99

* Farm land tends to erode most rapidly when planted with

A) Sorghum
B) Potato
C) Wheat

D) Clover




TS15/100

* According to Census 2011 the second most populous state
of India is:

A) Bihar

B) Bengal

C) Maharashtra

D) RajaSthan
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